V1

> exp(x*x) ;
diff (exp (x*x) ,x);

xx
€

X

X (In(x) +1)€"

[> x*cos (x) ;

series (x*cos (x) ,x,5) ;

f:=unapply (convert (% ,polynom) ,x) ;
X cos(x)

x— %x3+0(x5)

1
f=x—>x— > ¥

> plot([x*cos (x),£(x)],x=-Pi..Pi);
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[> int(cos(x)*3/sin(x) ,x=Pi/6..Pi/2);
- % +1n(2)
=> int (int(x/ (1+y~2) ,x=0..y) ,y=0..1);
1 1
278"
Y3
[> with(LinearAlgebra) :
A:=Matrix([[1,a,a"3],[1,b,b"3],[1,c,c*3]]);
lad
A=|1b 0

led

1.1)

1.2)

2.1)

@2.2)

3.1

> factor (Determinant (3)) ;

-(-ctb)y(a—c)(a—b)(atc+b)
[> A:=Matrix([[2,-1,-2],[-1,1,1],[-2,1,4]]);
2 -1 -2
A=|-1 1 1
2 1 4
=> 1,V:=Eigenvectors (A) ;
3+7
LV=|3-J7 |
1
i 6(5+2J7) ) 6(5—2J7)
(B+sy7)(1+y7) (B=5y7)0—-J7)
2(2+7) 2(2—7)
13457 13-57
1 1
> v1:=Column (v,1);
v2:=Column (V,2) ;
v3:=Column (V,3) ;
. 6(5+2J7)
(13+5y7) (1+J7)
vl = 2(2+J7)
13457
1
. 6(5—2J7)
(13-57) (1-J7)
2= 2 (2 J7)
13—=57
1
1
v3i=| -1
1
> simplify (vl.v3);
simplify (vl.v2);
simplify (v2.v3);
0
0
0

3.2)

(33)

(3.4)

(3.5)

(3.6)



v4 > s2:=solve(subs(sl, {e3,e4}),{a,b});

s2={a=-2,b=1} 5.9)
| > restart; > subs (s2,subs (x=0,diff (£ (x) ,x)) *x+£(0)) ;
> f:=unapply (3*x+3* (-x) ,x) ; 10x—2 (5.10)
i fEx—=343 @.n [> plot(subs (s2, [£(x) ,subs(sl,g(x)),10%x-2]) ,x=-1..2);
> plot ([£(x),£(x-1)],x=-2..2); 30-
254
204 20 A
15 10
10
5 ] . :
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X
> £(x-1); LL
¥l @.2)
> simplify (£ (x-1)-(1/3*%3x+3*3%(-x))) ;
0 4.3)
> solve (£ (x)=Ff (x-1),x);
1
5 4.4)
> £(1/2) ;
4
?ﬁ 4.5)
VS5
:> restart;
[> f£:=unapply (3*a*x"2- (8*a+6) *x+4*a+6,x) ;
f=x—3ax* — (8a+6)x+4a+6 5.1)
> g:=unapply (3*b*x*2+u*x+v,x) ;
g::x—>3bx2+ux+v 5.2)
> el:=int(g(x),x=-1..0)=-6;
e]::b—%u-l-v:-é 5.3)
> e2:=g(-1)=-9;
e2:=3b—u+v=-9 5.4)
[> sl:=solve({el,e2},{u,v});
sl={u=4b+6,v=b—3} (5.5)
> e3:=£(0)=g(0) ;
e3=6+4a=v (5.6)
> ed:=subs (x=0,diff (£ (x) ,x))=subs (x=0,diff (g (x),x)) ;
ed=-6—8a=u 5.7
[> subs(sl,{e3,ed});
{(-6—8a=4b+6,6+4a=b—3} (5.8)



